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This Question Booklet consists of 48 pages.

This Question Booklet is in three versions — Bengali, English
and Hindi. In case of any doubt or confusion, English version

will prevail.

Attempt the questions as per the instructions given there in.
Write the answers only in the Main Answer Script, nowhere

else.

Do Rough Work, if necessary, in Méin Answer Script and

cross it diagonally.
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Situation 1 :

to the vendor at a discount of 5%.

Situation 2 :

to the vendor at a premium of 5%.

X, Y Q3% Z 96 SHmIR ofSHit e @92 ©fF l 3 2 1 SFHTe
S-S B4 T | 314 b, 2022 SRy Afedmta Tad=4at &

If 12% Debentures of Rs. 100 each are issued

If 10% Debentures of Rs. 100 each are issuedé

2 + 2|

et

Liabilities ‘:‘1;23' Assets ?g‘;fi |
Capital X 40,000 Plant & Machinery 40,000 [

Y 50,000 Furniture & Fixture 20,000

Z 30,000 | 1,20,000 | Stock 16,000

Reserve 36,000 Debtors 10,000

Creditors 10,000 | Cash at Bank 80,000

1,66,000 1,66,000
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T 3:2 | 31.12.2022 SR Ot@ Tas-afb f&wer R

Balance Sheet

Liabilities Amt. Assets Amt.
(Rs.) (Rs.)
Capital Account Land & Building 4,20,000
A 3,00,000 Plant & Machinery 2,80,000
B 2,00,000 5,00,000 | Stock 80,000
General Reserve 2,50,000 | Debtors 1,25,000
Creditors 1,60,000 | Less : Provision
Bills Payable 40,000 for doubtful
debts 5,000 | 1,20,000
Cash at Bank 50,000
9,50,000 9,50,000

151 S, 2023 SR SE FERRS MSEPIE C-@ g ST
feTe SEee FAre NS A ¢ |

(i) IreIF W&l 24 5,00,000 BT |

(ﬁ} TFST o1 50,000 BIFl 1A A |

(i)

(iv)

TGS AT T 5% I #I1C |

AT 719 Sfdgie 97 ([@UP A 8,000 BiFt |

v) C O ¥ AT Yo AT 50,000 Tt A5t ﬁr&wmml

(vi)

HAYIET 50% 0 T |

(vii)

C T IR A @32 B 99 YorqeAd Rersae@ #9 o4ie comgioa

C- a7 TPLGFICI A1 T AP IB+ A0 T 2: 2 ¢ 1.

4FO IAN ¢ (a) YA oA RS, (b) WLMNTRCGE [oAER (BARAS,

(c) C a9 T@HI&FA #[9 01.01.2023 Sy QD TAS*T | |
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1,20,000 Bt | 2+ 2
w3

Aefpe B el

(2) WO HTOEH A

(b) WPl SEATS | 242

41

Rt SURal R/ (i) TFIRT ST, (i) e Srefa aAfama f[edw
F4Id & Excel-4 formula Aot A |

(a) For Transport Allowance : Basic pay up to Rs. 40,000 at

20% and above Rs. 40,000 at 30%.

(b) For Entertainment Allowance : Basic pay up to
Rs. 30,000 at 15% and above Rs. 30,000 at 25%. 2+2

Haql

s 6T YO st fAefy FA™ ®A) Excel-938 @ financial

functionaﬁﬂﬂﬂﬂwm%caﬂlmzmﬁaﬂﬂnWI 2+ 2
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op g 11 A o 799 12-9q &ad @l |

fNoq SAPTZ T ABC Ltd. -7 31.12.2022 IR A 2y

Rt todt Tt -
Balance Sheet
Particulars Note 31.12.2022 31.12.2021
No. '
EQUITY & LIABILITIES :
1. Share Capital 1 4,00,000| 3,80,000
Surplus B 90,000 98,000
2. Non-current Liabilities
Long-term Borrowing 60,000 50,000
8% Debenture
Current Liabilities
Provision for Taxation 40,000 24 000
Trade Payables 64,000 60,000
6,54,000 6,12,000
ASSETS.
1. Non-Current Assets
Fixed Assets 5,30,000 4,90,000
2. Current Assets .
Inventories 60,000 50,000
Trade Receivables 3 52,000 62,000
Cash & Cash Equivalents 4 12,000 10,000
6,54,000 6,12,000
Notes to Accounts.
31.12.2022 | 31.12.2021
1. Share Capital .
Equity Share Capital 3,00,000 2,80,000
10% Preference Share Capital 1,00,000 1,00,000
4,00,000 3,80,000
2. Surplus
General Reserve 26,000 20,000
Profit & Loss 66,000 82,000
92,000 1,02,000
Less : Preliminary Expenses 2,000 4,000
90,000 98,000
Contd.
| NS-AcCT] 16 of 48
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3. Trade Receivables
Debtors
Bills Receivable

4. Cash & Cash Equivalents
Cash at Bank
Cash in Hand

HYql

ACCT-23/XI11/2049(08]-NS

31.12.2022 | 31.12.2021
36,000 45,000
16,000 17,000
52,000 62,000
10,000 8,500

2,000 1,500
12,000 ~10,000

1

ﬂﬁmﬁw%@ﬂaﬂﬂnaa*m|mﬁﬁiﬂmmifme

RAGE ATRe FIoenia 96 Fea THId 718 |

E2REI

(a) DBMSJ?
(b) DBMS-9d JfRyrafer |

4qt
sefive DIl et ¢
(a) Foreign key
(b) Candidate key
(c) Superkey.
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( ENGLISH VERSION )

The questions related to MCQ and SAQ should be answered in the
specific printed TABLE accordingly in the Answer Script.

( Multiple Choice Type Questions )

1. Select the correct answer out of the options given against each

question (Alternatives are to be noted) :

(1)

(11)

(i)

1 x24 =24

The balance of Partner's fixed capital under fixed capital
method 1s

(a) always credit . (b) always debit

(c) either debit or credit (d) zero balance.

In the absence of Partnership agreement, the partners are
(a) to pay interest on drawings @ 6% -

(b) to pay interest on drawings @ 12%

(c) not to pay interest on drawings at any rate

(d) none of these.

A partner drew Rs. 300 at the beginning of each month
subject to interest @ 5% p.a. The amount of interest on

drawings will be
(a) Rs.97-50 (b) Rs. 110:00°

(c) Rs. 125-50 (d) Rs. 130-50.*

~
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(iv)

(v)

(vi)

(vii)

ACCT-23/XI11/2049(08)-N8

The value of goodwill increcases with the .............. of the
firm.

(@) increase in profit « (h) decrease in profit

(c) increcasc in loss (d) none of these.

A and B arc partners in a firm sharing profits and losses
in the ratio of 5 : 3. They admit C for 1/7 th share in the
profit. The ncw ratio is 4 : 2 : 1. What will be the
sacrificing ratio of Aand B?

(a) 2:1 (b) 2:5

() 3:5 (@ 5:3..

The premium for Goodwill to be brought in by the new

-

partners is valued on the basis-6f
(a) Full value of Goodwill ¢

(b) Overvaluation of Goodwill

(c) Undervaluation of Goodwill -
(d) None of these.

If the amount of Reserve of a partnership firm is
Rs. 6,000 and the profit sharing ratio of A, B and C are

3 : 2 : 1, then share the reserve of Band C together is

(a) Twice of A (b) Equal to A

*

(c) Halfof A {d) None of these.
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(viii)

(ix)

(x)

(xi)

(xii)

ACCT-23/XI1/2049(08)-Ng§

If the old ratio is more than the new ratio, what is it

called ?
(ay Sacriﬁcing. ratio (b) Gaining ratio *
(c) Capital ratio | (d) None of these.

A, B & C are partners sharing profits in the ratio of
5.4 .3 Bretires and A and C decide to share future
profits equally. What will be the gaining ratio ?

@ 1:3 ) 3:1

() 4:3 (d 5:4.

If goodwill account is raised .b}r the partners at the time of
admission of a partner, it will be written off in

(a) Old profit sharing ratio

(b) New profit sharing ratio «

(c) Sacrificing ratio

(d) Capital ratio.

Who are the owners of the company ?

(a) Shareholders » (b) Directors

(c) Promoters (d) Creditors.

What is the most important document of a company ?

(a) Prospectus .,
(b) Articles of Association

(c) Memorandum of Association

(d) Register of Members.

20 of 48

bl

Scanned by CamScanner



(xiii)

(xiv)

(xv)

(evi)

ACCT-23/XI11/2049(08)-N8

What should be the maximum number of members of a

Private Ltd. compnny ?
(n) 20 (b) 40
©) 50, () 100.

When  shares are  allotted which account is to be
credited ?

(a) Share Application account
(b) Share Allotted account

(c) Sharc Capital account

(d) Nonec of these.

In which account the amount reccived over and above the

nominal valuc of sharc should be credited ?
(a) Sharc Application account

(b) Sharc Allotment account

(c) Sha‘rc Capital account .

(d) Seccurities Premium account.

Subject to the company’'s articles permitting interest on

calls-in-advance may be paid at
(a) 3% (b) 6%

(c) 12% (d) 15%.

L]
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(xvii) Discount on re-issue of forfeited shares should not b ;

more than

(a) Amount received on forfeited shares
(b) 10% of re-issued capital

(c)- Iée-issued capital «

(d) 20% of re-issued capital, !

(xviii) If debentures are to be redeemed in four equal

instalments, discount on issue of debentures account will

be written off in the ratio of

@) 1:1:1:1 . (b) 1:2:3:4

) 2:3:4:1 d 4:3:2:1

" Either attempt question number {xix) to (xxiv) OR (xxv) to (xxx).
Only one series of questions to be answered from

above mentioned series of questions.

(xix) Where will you record 'public deposit' in the balance

sheet of the company ?

(@) Share capital (b) Secured loan |

() Unsecured loan (d) Current liabilities. 1

(xx) Analysis of financial statements are done after

(@) compilation of data (b} conversion of data |

(¢) comparison of data (d) none of these.

|NS-ACCT[ | 02 of 48
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i)

(xxii)

(3exiii)

(xxiv)

(xxv)

ACCT-23/XI11/2049(08)-NS

Current ratio measures
(a) the solvency of the business
(b) the liquidity of the business
(c) the financial structure of the business
(d) profitability of the business.:
If stock tﬁrnover ié 5 times, what will be the average
holding period (days) for the year 2023 ?
(a) 60 days (b) 65 days ¢
(c) 73 days.. (d) 80 days.
The revenue producing activities of an enterprise are
called |
(a) Operating activities « (b) Investing activities
(c) Financing activities (d) Cash equivalent.
If the net profit earned during the year Rs. 1 lakh and the
increase in debtors during tﬁe year is Rs. 25,000, what
will be the amount of cash from operation ?
(a) Rs. 25,000 " {b) Rs. 50,000
(¢) Rs. 75,000 - (d) Rs. 1,25,000.
OR

When the same formula is to be used in adjacent few

cells, then .......c....evn has to be used.
(a) Auto-copy (b) Auto-fill
(c) Auto-formula (d) both (a) and (b).
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(xxvi)

(xxix) The shortcut key for paste is

]

ACCT-23/X11/2049(08)-)y

The first electronic spreadshect was

(a) Visicalc (b) Powecr Builder

(c) Oracle (d) Nonc of thesce.

(ﬁcxvii] CIO is a

(a) Column (b) Row

(c). Cell (d) Sheet.

(xxviii) MS-Excel is

(a) a system software (b) an electronic spreadsheet ;

(c) a word processor (d) a presentation tool.

(a) Ctrl +C (b) Ctrl + X

(c) Ctrl+Z (d) Ctrl+ V. 5

(xxx) After selecting the data in a worksheet, the shortcut key |

to quickly create a chart is

(a) F11 (b) F8

(c) F4 (d) F2.

( Short Answer Type Questions )
Answer the following questions in brief (Alternatives are to be
noted) : 1 x12=12
(i) What is meant by current account ? |
OR

What is the necessity of a partnership deed ?
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(i)

(iii)
(1v)

(vi)

(vii)

(viii)

ACCT-23/XI1/2049(08)-NS
What is meant by average profit ?

OR
What is hidden goodwill ?
Whaf is prospectus ?
Why sacrificing ratio is calculated ?
OR
Define gaining ratio.
What is the nature of revaluation account ?
OR
What do you mean by accumulated profits ?
A, B and C are partners sharing profits in the ratio of
3 :2: 1. A retires and his share is taken by B and C
equally. What will be the gaining ratio ?
What is called up capital ?

What do you mean by prefereﬁce share ?

Either attempt question number (ix) to (xii) OR (xiii) to (xvi)
Only one series of questions to be answered from the

(ix)

above mentioned series of questions.
What do you mean by short-term solvency ratio ?

OR

What is meant by proprietory ratio ?

Write one objective of Financial Statement analysis.
OR

What do you mean by common size income statement ?
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(xi)

(xii)

(xiii)

(xiv)

(xv)

(xvi)

ACCT-23/XI1/2049(08).Ng

When is dividend reccived considered as  operating

activities ?

What do you mean by fixed asscts turnover ratio ?

OR

Write one disadvantage of payroll accounting.
OR
What do you mean by Bar-chart ?
Write onc use of Pivot table in MS-Excel.
Mention one objective of 'Spreadsheet’ in business.
What do you mean by 'cell formatting' ?
OR

What do you mcan by 'Data graph' ?

( Subjective / Descriptive Type Questions )

Answer the following questions (Alternatives are to be noted) :

3.

A, B and C are partners in a firm and their profit sharing ratio

is 3:2: 1. On 1st April, 2021 balance in their Capital Account

stood

at Rs. 3,00,000 ; Rs. 2,00,000 and Rs. 1,00,000

respectively.

(i)

(i1)
(iii)

The partnership deed contained the following conditions :

Interest on Capital @ 5% p.a.
Interest on Drawing @ 10% p.a.

B is entitled to a salary of Rs. 5,000 p.m.
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(iv) Cis entitled to a commission of 10% on total sales (after
charging his own commission).

[Total Sales in 2021-22 amounted to Rs. 9,90,000 |

Net profit of the firm for the year ended 31st March, 2022,

amount to Rs. 3,00,000 and the drawings of the partners werc

A - Rs. 50,000 ; B - Rs. 40,000 and C - Rs. 25,000

- From the above information, prepare 2a Profit and Loss

Appropriation Account for the year ended 31st March, 2022.

OR

State the characteristics of Profit and Loss Appropriation

Account. 4

Mr. X who applied for 5000 shares of HCL Ltd. of Rs. 10 each,

issued at a premium of Rs. 2 each. Mr. X paid application

money of Rs. 3 per share and Rs. 6 (including Premium as

allotment) but failed to pay the balance amount of share.

Company decided to forfeit these shares and reissue 3/5 of

such shares at 20% discount.

Show necessary Journal entries for forfeiture and reissue of

shares in the books of HCL Ltd. 4
OR

Write short notes on :

(a) Forfeiture of share

(b) Authorised capital. 2+ 2

NB-ACCT . 27 of 48



ACCT-23 £?m£2049[031-1¢|

XYZ Ltd. purchased equipment worth Rs. 19,950 and issu&di

- . |
Debentures to the vendor as purchase consideration. Pag, |
: |

{

necessary journal entries in the following two situations : i

Situation 1 : If 10% Debentures of Rs. 100 each are issueq

1

to the vendor at a discount of 5%. }
Situation 2 : If 12% Debentures of Rs. 100 each are issued |

to the vendor at a premium of 5%. 24 2
X, Y and Z are the partners of a firm and they share profits and

losses in the ratio of 3 : 2 : 1. On 3lst March, 2022, the

Balance Sheet of the firm was as under

Liabilities J;;gtl Assets ?ﬁ;ﬁ
Capital X 40,000 Plant & Machinery - 40,000
Y 350,000 Furniture & Fixture 20,000
Z 30,000 1,20,000 | Stock 16,000
Reserve 36,000 | Debtors 10,000
Creditors 10,000 | Cash at Bank 80,000
1,66,000 1,66,000

Y retires on 01.10.2022 on the following terms :

(i) Plant and Machinery to be reduced by Rs. 10,000.

(ii) Provision for doubtful debts to be made at 5% on debtors.
(i) Goodwill of the firm is valued at Rs. 54,000 and value of

goodwill will not be shown in the Balance Sheet after

retirement of Y.
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(iv) Share of profit of the retired partner will get up to the
date of retirement on the basis of last year's profit. In the
last year the firm earned profit of Rs. 60,000.

(v) Rs. 30,000 is to be paid immediately at the time of
retirement and the balance'.of his capital account is to be
transferred to loan account of Y. |

Prepare Revaluation Account and Partners' Capital Account in

the books of the firm. 2+ 4

OR

What do you mean by reconstruction of a partnership firm ?

Classify it. Give one example each of every classification.

2+2+2

XYZ Ltd. issued 50,000 shares of Rs. 10 each at a premium of

Rs. 2 per share payable as follows :

Rs. 2 on Application, Rs. S on Allotment (including premium],

Rs. 3 on lst Cai]l and the balance on Final call.

The company did not make the Final call.

Company got all payment up to 1st Call money except only one

shareholder holding 1000 shares failed to pay allotment and

1st Call money. These shares were subsequently forfeited by
the company.

Show journal entries in the books of XYZ Ltd. : 6

OR
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m ? What are th.-_.i._

ities Premiu
n by Securiti |

what do you mea

utilize the Sccuriryé

purposes for which a company can

2 +
Premium ? K i

A and B are partners in a firm and their profit sharing ratio was |

3 . 2. Their Balance Sheet as on 31. 12.2022 was as under :

Liabilities Amt. Assets Amt.
(Rs.) (Rs.)
Capital Account Land & Building 4,20,000
A 3,00,000 Plant & Machinery 2,80,000
B 2,00,000 5,00,000 | Stock 80,000
General Reserve 2.,50,000 | Debtors 1,25,000
Creditors 1,60,000 | Less : Provision
Bills Payable 40,000 for doubtful
debts 5,000 1,20,000
Cash at Bank 50,000
9,50,000 9,50,000

On 1st January, 2023, they agreed to admit C as a new partner
on the following terms :

(i) Building is to be valued at Rs. 5,00,000.
(ii) Machinery is to be reduced by Rs. 50,000.

(iii) debts is to be increased .to

Provision for doubtful
Rs. 8,000
(iv)] Stock is to be reduced by 5%.

(v) C will bring Rs. 50,000 as his share of goodwill in cash.

(vi)  C will bring 50% of the combined capital of A and B after
adjustments of above items as capital.
(vi}  The new profit sharing ratio after C's admission will be

2:2:1,
Prepare (a) Revaluation Account, (b} Partners' Capital
Account and (c) Balance Sheet as on 01.01.2023 after C's

admission.
3+4+3
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Answer EITHER Question No. 9 OR Question No. 10

From the following information compute (a) Current Assets and

(b) Stock.

Current Ratio 3-5; Quick Ratio 2'5 and Working Capital

Rs. 1,20,000. 2+ 2
OR

Writc short notes on :

(a) Stock Turnover Ratio

(b) Proprictary Ratio. 2+ 2

OR

From the following information, find the formula on Excel

for computing the amount of (i) Transport Allowance,

(ii) Entertainment Allowance : https://www.westbengalboard.com

(a) For Transport Allowance : Basic pay up to Rs. 40,000 at

20% and above Rs. 40,000 at 30%.

(b) For Entertainment Allowance : Basic pay ‘up to

Rs. 30,000 at 15% and above Rs. 30,000 at 25%. 2+ 2
OR

Name and explain the financial function of Excel, which is used

to calculate present value of an investment. 249
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11.

Answer EITHER Question No.

From the follow

Flow Statement for the

ing Balance Sheet of
year ended on 31. 12.2022.

Balance Sheet

ACCT-23/XI1/2049(08)-rg

11 OR Question No. 12

|
1
|
!
|

ABC Ltd. prepare Cash |

Particulars Note | 31.12.2022 [31.12.2021
No.
EQUITY & LIABILITIES :

L. Share Capital 1 4,00,000 3,80,000
Surplus 2 90,000 98,000
2. Non-current Liabilities |
Long-term Borrowing 60,000 50,000

8% Debenture |
Current Liabilities i
Provision for Taxation 40,000 24,000 |
Trade Payables 64,000 60,000 |

6,54,000 6,12,000
ASSETS
1. Non-Current Assets
Fixed Assets 5,330,000 4,90,000
2. Current Assets
Inventories 60,000 50,000
Trade Receivables 3 52,000 62,000
Cash & Cash Equivalents 4 12,000 10,000
6,554,000 6,12,000
Notes to Accounts.
31.12.2022 | 31.12.2021
1. Share Capital
Equity Share Capital 3,00,000 2,80,000
10% Preference Share Capital 1,00,000 1,00,000
4,00,000 3,80,000
2. Surplus -
General Reserve 26,000 20,000
Profit & Loss 66,000 8‘2:000
o 92,000 1,02,000
Less : Preliminary Expenses 2.000 4,000
" 90,000| ~ 98,000
Contd.
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31.12.2022

3. Trade Receivables
Debtors 36,000
16,000

Bills Receivable
52,000

4. Cash & Cash Equivalents
10,000

Cash at Bank
Cash in Hand 2,000
12,000

OR

State the importan
c

OR

(a) What is DBMS ?
(b) State the advantages of DBMS.

OR
Write short notes on the following :

(a) Foreign key
(b) Candidate key

(c) Superkey.

ce of Cash Flow Statement.

xample of cach of operating and investing activities.

31.12.2021

45,000
17,000

e
62,000

8,500
1,500

P—

10,000
—

Give one

2+ 4

2x3
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(v)

- (vi)

(vii)

(viii)

(ix)
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(@ 3PN = =

(b)  wferpe ity 2+2

XYZ {de 19,050 To %mmﬁaaﬂmwﬁﬂmaﬁmﬁéﬂm

¥ w7 mowy S fean B RufkE 3 sEwas A Sl

Situation 1 : If 10% Debentures of Rs. 100 each are issued
to the vendor at a discount of 5%.

Situation 2 : If 12% Debentures of Rs. 100. each are issued
to the vendor at a premium of 5%. 2+ 2

X yau z el o & oRer a3 2 1 % W H AN a9

F10T 7 Sie FRQ &1 31.03.2022 T HH & o 9 = T

Liabilities ?1;; t] Assets ﬁgslt]
Capital X 40,000 Plant & Machinery 40,000
Y 50,000 Furniture & Fixture 20,000
Z 30,000 1,20,000 | Stock 16,000
Reserve 36,000 | Debtors 10,000
Creditors 10,000 | Cash at Bank 80,000
1,66,000 1,66,000

v Roy=T vt 9% 01.10.2022 T ITEHIN AT ¢

() v wer HE 10,000 To W HIEAT ¥

(i) WW%WWWS%#’TH@WWh
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8. AdHl BWtBﬁﬁm%ammamiiﬁaﬁmﬁazzml
31.12.2022 I 791 Fqeid g Fore S &

Liabilit; Amt. Amt.

. ilities (Rs) Assets (Rs.)
Capital Account Land & Building 4,20,000

4 3,00,000 Plant & Machinery | 2,80,000

B 2,00,000 5,00,000 | Stock 80,000
General Reserve 2,50,000 | Debtors 1,25,000
C.’f‘f’.‘ditors 1,60,000 | Less : Provision
Bills Payable 40,000 for doubtful

debts _ 5,000 | 1,20,000
Cash at Bank 50,000
9,50,000 9.50,000

01.01.2023 FI & 1= I T C & 9% WRER & &4 § 749 37 H
HeHd g4 ¢ ' '

()  ¥a9 5,00,000 To T AR BT
(i)  HIIERI S 50,000 Fo HEHT TS|
4ii) @fETe ol & fAU wey™ 8,000 Fo TG BN
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50% Geil o T | Q| |
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- W9 HEAT 9 HUAT UIH HEAT 10 FT 34T ST |
o Ty guAsll ¥ (a) e §HNM A1 (b) i =l TOTT Y |
=Te] I 3-5; TN AN 2-5 T FEE Tl 1,20,000 To |

2+ 2
Hitrer fewof fag :
(a) TIH FEd FIC
(b)  EEHe ST | 540
HYAT
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11.

ACCT-23/X11/2049(08) 5

W‘ . ) sic pay up to Rs. 40,000 at
(a)  For Transport Allowance - Ba !
)
20% and above Rs. 40,000 at 30%. e oy
i t Allowance o
() For Entertainmen >
Rs. 30,000 at 15% and above Rs. 30,000 at 25% 249
FeAH T
IO
Excclwﬁﬁammwmwﬁ%ﬁﬂ ol ™
3 R ST &, 7 AT Tord e T L

mﬁwnmﬂﬁﬁ'@mmﬁfﬁiﬁﬁm
ABC foto =1 fo ot 75 @ 21.12.2022 T AT gHdAd ¥ F
U Tiere waTe faeaor s9RT -

Balance Sheet

Particulars Note | 31.12.2022 | 31.12.2021
No.

2. Current Assets

EQUITY & LIABILITIES :
1. Share Capital 4,00,000 | 3,80,000

Surplus 2 90,000 98,000
2. Non-current Liabilities

Long-term Borrowing 60,{](_)0 50,000
8% Debenture

Current Liabilities
Provision for Taxation

ek

40,000 24,000
Trade Payables 64,000 60,000

6,54,000 6,12,000

ASSETS

1. Non-Current Assets
Fixed Assets

5,30,000 4,90,000

Inventories
000
Trade Receivables 60,000 50,

Cash & Cash Equivalents 4 ?2,000 ?0 000
000 | __ e
— =
6,54,000 ﬂi
Contd:




12.

ACCT-23/XII1/2049(08)-NS

Notes
to Accounts.

31.12.2022 | 31.12.2021
1. Share Capital
quuity Share Capital 3,00,000 | 2,80,000
10 Yo PrcfErence Share Capltal 1’00,000 1100,000
4,00,000 3,80,000
2. Surplus
General Reserve 26,000 20,000
Profit & Loss 66,000 82,000
92,000 1,02,000
Less : Preliminary Expenses 2,000 4,000
90,000 98,000
3. Trade Reccivables
Debtors 36,000 45,000
Bills Receivable 16,000 17,000
52,000 62,000
4. Cash & Cash Equivalents
Cash at Bank 10,000 8,500
Cash in Hand 2,000 1,500
12,000 10,000
YT
{re waTe faRor &1 Hee S | WA a9l fafee fRarherdt &
U&-Tsh 3T S | 4+ 2
AT
(a DBMS™IE ?
(b) DBMS ! graurai i adqd | 544
HUAT
Py qr i el fo@ - 2% 3
@ E
) o
(c) EQZ -ﬂ'ﬂ'|
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